~—~ —1 —
B YO IEAA T e hd
= FIHE Ll 5
S L ¥ ELL J 8 |
i il i .
[T 107
| Gtlie: i
i : M
1072
N 1072
-9 J..J.:h -9 1.4
T F T
o ¥ el x
0.95—- 0.9/
083 2 3 083 1 2 3
TP n (PCA to beamline)

= —
IS 1S
o (&)
e e
=~ =
o 2
o <2
b b

1014

10

Rat|

0.9HL- L 1l
%9372 1 o0 1 2 3 023 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

a(op/p,)
L

107}

.910_-?‘;' ] f i ]
g Ll It H
F 1 y y g
15.?0: ~ ” d EL 3 :~-.ull
F ] 3 i
0.9k hisd Lyl i ﬁ ]
=3 -2 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


